1. (10 pts) Solve the following D.E.
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2. (10 pts) Sketch the graph of the polar equation r = sin(36) from § = 0 to § = 27 and
find the area enclosed by the curve.
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3. (10 pts)
A) Find the isoclines for ¢ = y — 2? and use them to graph the slope field.
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B) Use the slope field to determine for what values of b does the IVP y(0) = b and
y' =y — 2% have a solution that is strictly decreasing.
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C) Find lim,_,_ f(z) for any solution f(z) to 3 =y — 2.
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4. (10 pts) Find all points with horizontal and vertical tangents on the polar curve r = ¢’
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5. Derive Euler’s formula using the Taylor series for e*.
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6. (10 pts) Show that if b # 0, e**cos(bz) and e*”sin(bz) are linearly independent functions.
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7. (10 pts) Solve ¢/~ 3y = 0.
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8. (10 pts) Solve " + 2y + y = 0.

This /s e« LHZCDE.
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9. (10 pts) Solve y" + 2y + 2y = 0.
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10. (10 pts) Solve zy’ + H = 2.
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